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QUESTION 1

Selena needs to send a message to her manager providing all the details of a business proposal. The idea they have
discussed is critical to the business. The project is considered urgent and confidential. Selena wants to get this outline
to her manager as quickly as possible.

What would be the most appropriate way Selena could use an SMS (text) message in relation to this proposal?

A. To send a useful summary of the proposal to her manager so that the manager has it available during a
presentation.

B. To alert her manager that she has sent the proposal via e-mail so her manager can view the proposal as soon as
possible.

C. To provide a detailed outline of the proposal so that her manager can refer to it as he travels.
D. To send the proposal as an attachment to the text message.

Correct Answer: B

QUESTION 2

Emelia and Lola have created a new software application that allows messaging site subscribers to analyze the
message statistics in order to more easily assess and interact with followers. They have decided to license this software
according to the GNU GPL Version 3.

What does this license allow them to do with their software?

A. They can only sell this software through a not-for-profit company.

B. They can sell this software, but only if they make the software code available on a public server.

C. The software enters the public domain for free use and can be altered by other programmers, who must then make
their changes freely available as well.

Correct Answer: C

QUESTION 3

You are a software developer who wants to start developing mobile apps for smartphones. You have the option to
develop apps for an open-source operating system.

Which of the following could persuade you to focus your development efforts on the open-source operating system?
A. An open-source license will never be in the public domain.

B. Source code for an open-source app is not viewable and cannot be modified.

C. Open-source operating systems and development tools are free from software bugs and viruses.

D. The operating system and associated development tools are free, provided you comply with the copy left license.
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Correct Answer: D

QUESTION 4

Your customer scheduled a meeting to discuss a project you are managing. Early testing indicates that there are
currently quality problems with some of the more complex features. The customer stated that quality and budget are his
two main concerns: The project must be developed within budget and must be very high quality. When you asked the
customer if he would be willing to extend the deadline to meet his objectives, he stated this was not possible.

What adjustment to the project triangle components can you suggest to meet your customer\\'s needs?

A. Suggest that the scope be limited to include only the most important features.

B. Inform the customer that he must compromise one of the three elements of a project triangle: quality, budget or
schedule

C. Suggest that the customer hire temporary contractors.

Correct Answer: A

QUESTION 5

You have just checked the balance in your bank account by logging into your bank\\'s Web site. Which protocol was
most likely used for the transmission of your information?

A. IMAPS
B. HTTPS
C. POP
D. FTPS

Correct Answer: B
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